
MATHS

BOOKS - MBD NCERT SOLUTIONS

POLYNOMIALS

Multiple Choice Questions

1. Which one is polynomial ?

A. 
1

x + 1

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KmO42WAcvTJY


B. 

C. 

D. 

Answer: D

Watch Video Solution

√x + 2

1

x2 + 2x + 7

x3 + 1

2. Which one is polynomial?

A. 

B. 

1

x + 1

x + 2
1
3

https://dl.doubtnut.com/l/_KmO42WAcvTJY
https://dl.doubtnut.com/l/_3NXb3YeJVuhT


C. 

D. .

Answer: D

Watch Video Solution

1

x2 + 1

x + √2

3. Which one is polynomial?

A. 

B. 

C. 

√x + 1

x

x3 + 1

1

x2 + 1

https://dl.doubtnut.com/l/_3NXb3YeJVuhT
https://dl.doubtnut.com/l/_CNJL4qMNaV5Y


D. 

Answer: D

Watch Video Solution

x3 + 1

4. Which one is polynomial?

A. 

B. 

C. 

D. .

1 + √x

x2 + 1

1

x3 + x2 + 1

1

x3

https://dl.doubtnut.com/l/_CNJL4qMNaV5Y
https://dl.doubtnut.com/l/_XRqMJYsZwHTr


Answer: B

Watch Video Solution

5. Find the zeros of polynomial 

and verify the relationship
 between the zeros

and their coefficients:

A. 

B. 

C. 

D. None of these.

6x2 − 3 − 7x

,
−1

3

3

2

,
−7
3

−3

6

,
7
6

−3

6

https://dl.doubtnut.com/l/_XRqMJYsZwHTr
https://dl.doubtnut.com/l/_mm300UfudqoM


Answer: A

Watch Video Solution

6. Find the zeros of the following quadratic

polynomials and verify the relationship

between the zeros and the coefficients: 

A. 

B. 

C. 

4x2 − 4x + 1

,
1

2

1

2

,
−1

2

−1

2

1,
1

4

https://dl.doubtnut.com/l/_mm300UfudqoM
https://dl.doubtnut.com/l/_sXvwbsAFGxz4


D. 

Answer: A

Watch Video Solution

, 1
−1

4

7. The zeroes of  are :

A. 

B. 

C. 

D. .

3x2 − 4 − x

1,
−4
3

−1,
4
3

−1,
−4
3

1,
4
3

https://dl.doubtnut.com/l/_sXvwbsAFGxz4
https://dl.doubtnut.com/l/_TapIFhCcwO7C


Answer: B

Watch Video Solution

8. The zeroes of  are :

A. 

B. 

C. 

D. 

Answer: A

3x2 + 1 − 4x

1,
1

3

1,
−1

3

−1,
1

3

−1,
−1

3

https://dl.doubtnut.com/l/_TapIFhCcwO7C
https://dl.doubtnut.com/l/_o0R71TFbzZk5


Watch Video Solution

9. The polynomial  can

have at most zeros, where :

A. One

B. Two

C. Three

D. None of these.

Answer: B

p(x) = ax2 + bx + c

a ≠ 0

https://dl.doubtnut.com/l/_o0R71TFbzZk5
https://dl.doubtnut.com/l/_YLmC0d6PB90p


Watch Video Solution

10. The sum of the zeroes of the polynomial

 is

A. 3

B. 

C. 4

D. .

Answer: C

Watch Video Solution

2x2 − 8x + 6

−4

−3

https://dl.doubtnut.com/l/_YLmC0d6PB90p
https://dl.doubtnut.com/l/_PmmCFh8iNkag


11. Which of the following expression is a

quadratic polynomial?

A. 

B. 

C. 

D. None of these.

Answer: B

Watch Video Solution

2x + 3

3x2 − 5x + 4

1

2x2 + 3x + 5

https://dl.doubtnut.com/l/_PmmCFh8iNkag
https://dl.doubtnut.com/l/_7WFOFHTWuxpm


12. The zeroes of the polynomial  are :

A. 

B. 

C. 

D. None of these.

Answer: C

Watch Video Solution

x2 − 7

√7, √7

7, − 7

√7, − √7

https://dl.doubtnut.com/l/_5e1H7CvGID68


13. Find the zeros of the polynomial

 and verify the relationship

between its zeros and coefficients.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = x2 − 2

±3

±√3

±2

±√2

https://dl.doubtnut.com/l/_U5Wa3TGdLzxM


14. If the sum and product of zeroes of the

polynomial are 7 and  respectively, the

quadratic polynomial is :

A. 

B. 

C. 

D. .

Answer: A

Watch Video Solution

−5

x2 − 7x − 5

x2 + 7x − 5

x2 − 7x + 5

x2 + 7x + 5

https://dl.doubtnut.com/l/_HNja3Ijpj7KV


15. Which of the following expression is not a

polynomial?

A. 

B. 

C. 

D. .

Answer: A

Watch Video Solution

1

x + 1

x2 + 1

4m2 + 9m + 1

5y2 − 6

https://dl.doubtnut.com/l/_UzfSC4UrPOxD
https://dl.doubtnut.com/l/_zHBw83df9sSK


16. How many  maximum  minimum

number of zeroes can a quadratic polynomial

have ?

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

(i) (ii)

https://dl.doubtnut.com/l/_zHBw83df9sSK
https://dl.doubtnut.com/l/_5NXwtuxGAzyE


17. If  and  are the zeros of the quadratic

polynomial  , find the value

of .

A. 1

B. 5

C. 

D. 

Answer: A

Watch Video Solution

α β

p(t) = t2 − 5t − 1

+ + 2( + ) − αβ
α2

β2

β2

α2

α

β

β

α

−5

−1

https://dl.doubtnut.com/l/_5NXwtuxGAzyE


18. The sum of zeroes of quadratic polynomial

is  and product is 7, that quadratic

polynomial is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−√2

x2 − √2x + 7

x2 + √2x + 7

x2 − √2x − 7

x2 + √2x − 7

https://dl.doubtnut.com/l/_EbDAQuqlnGqE


Very Short Answer Type Questions

1. Find the sum of zeroes of quadratic

polynomial .

Watch Video Solution

x2 + 7x + 10

2. Find the product of zeroes of quadratic

polynomial 

Watch Video Solution

x2 + 7x + 10.

https://dl.doubtnut.com/l/_uVKrmdFNNq6p
https://dl.doubtnut.com/l/_AKmq2cz1JPga
https://dl.doubtnut.com/l/_0XBOoi60TVrm


3. Find the zeroes of the following quadratic

polynomials and verify the relationship

between the zeroes and the coefficients. 

(i) .

Watch Video Solution

x2 − 2x − 8

4. Find the product of zeroes of the quadratic

polynomial 

Watch Video Solution

x2 − 2x − 8.

https://dl.doubtnut.com/l/_0XBOoi60TVrm
https://dl.doubtnut.com/l/_XyiNGeH28fo6


Short Answer Type Questions

1. Find the zeroes of the following quadratic

polynomials and verify the relationship

between the zeroes and the coefficients

Watch Video Solution

x2 − 2x − 8

2. Find the zeroes of the polynomial:

Watch Video Solution

6x2 − 7x − 3

https://dl.doubtnut.com/l/_PnqeLYx84mQS
https://dl.doubtnut.com/l/_mvb7NnmbT14C


3. Find a quadratic polynomial with numbers

 as the sum and product of its

zeroes respectively.

Watch Video Solution

and − 1
1

4

4. Find a quadratic polynomial with the given

number as the sum and product of its zeroes

respectively are  and 4.

Watch Video Solution

1

4

https://dl.doubtnut.com/l/_mvb7NnmbT14C
https://dl.doubtnut.com/l/_uToDwGlwNDkT
https://dl.doubtnut.com/l/_3bdADaWbV4p9


5. Find a quadratic polynomial with the given

number as the sum and product of its zeroes

respectively are 3 and 2.

Watch Video Solution

6. Find a quadratic polynomial with the given

number as the sum and product of its zeroes

respectively are 5 and 3.

Watch Video Solution

https://dl.doubtnut.com/l/_3bdADaWbV4p9
https://dl.doubtnut.com/l/_xAPwJcR6PFk7
https://dl.doubtnut.com/l/_QrSQbGj4DLNS


7. Find a quadratic polynomial whose zeroes

are  respectively.

Watch Video Solution

−4 and 2

8. Find a quadratic polynomial whose zeroes

are 

Watch Video Solution

−3 and 5.

https://dl.doubtnut.com/l/_QrSQbGj4DLNS
https://dl.doubtnut.com/l/_gieCyJVjCAbh
https://dl.doubtnut.com/l/_UUQmz2maK3O1


9. Find a quadratic polynomial whose zeroes

are 

Watch Video Solution

4 and − 1.

10. Find a quadratic polynomial whose zeroes

are 

Watch Video Solution

3 and − 2.

https://dl.doubtnut.com/l/_nMjnNMqnwDbv
https://dl.doubtnut.com/l/_UBRjdLhvpeRU


11. Check whether the polynomial

 is a factor of the polynomial 

 where 

.

Watch Video Solution

f(x) = x2 − 3

g(x)

g(x) = 2x4 + 3x3 − 2x2 − 9x − 12

12. Apply the division algorithm to find the

quotient and remainder on
 dividing


by 

Watch Video Solution

f(x) = x3 − 3x2 + 5x − 3 g(x) = x2 − 2

https://dl.doubtnut.com/l/_etTIB530ExLG
https://dl.doubtnut.com/l/_ino0YXqpdtSE


13. Apply the division algorithm to find the

quotient and remainder on
 dividing


 by 

Watch Video Solution

f(x) = x4 − 3x2 + 4x + 5

g(x) = x2 + 1 − x

14. Divide the polynomial

 by the polynomial 

 and find quotient and

remainder.

p(x) = x4 − 3x2 + 4x + 5

g(x) = x2 − x + 1

https://dl.doubtnut.com/l/_ino0YXqpdtSE
https://dl.doubtnut.com/l/_470AaOdkGReQ
https://dl.doubtnut.com/l/_BlqAEYrIETGg


Watch Video Solution

15. Find all the zeros of the polynomial


 , if two of

its zeros are 
and 
.

Watch Video Solution

f(x) = 2x4 − 3x3 − 3x2 + 6x − 2

√2 −√2

16. 13. find all zeroes of

 , if you know that

two of its zeroes are 

2x4 − 3x3 − 3x2 + 6x − 2

√2 and − (√2)

https://dl.doubtnut.com/l/_BlqAEYrIETGg
https://dl.doubtnut.com/l/_7Z6ESvTIKvSf
https://dl.doubtnut.com/l/_KrIfEY1vZtur


Watch Video Solution

https://dl.doubtnut.com/l/_KrIfEY1vZtur

